4.6 Bernies Bikes - B1.notebook January 11, 2017

**Friday, January 13 is the last day Ms. Hansen will accept
any late/missing/extra credit work for 2nd quarter**

-->This includes any test/quiz retakes

Questions on 4.5 HW?

Apr 8-8:30 AM
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The area of a square is given. Find the length of the side. R A 57 i
1. 16 in? 2. (x —11)? ft? 3. (25a? + 60a + 36) cr
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4. Ifthe length of the side of a square is (x — 24) cm, what do we know about the value of x?

‘ Complete the table of values for f(x) = vx. Write answers in simplest radical form. ‘
5. 6. 7.

X f(x) X f(x) X f(x)

1 25 x> —2x+1

4 50 x2—4x +4

9 75 x*—6x+9

16 100 x? —8x +16

25 125 x% —10x + 25

36 150 x%2 —12x + 36

49 175 x? —14x + 49

64 200 x? —16x + 64
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Complete the table of values for f(x) = vx. Write answers in simplest radical form.

5. 6. 7.

x| f® 76 T J765) )
1 2 x? — 22 + I (Y= 1)(%=1) -

4 50 x2—4dx+4 | i

9 75 xZ—6x+9

16 100 x? —8x + 16

25 125 x? —10x + 25

36 150 xZ2 —12x + 36

49 175 x? — 14x + 49

) 64 200 x? —16x + 64 )

81 225 x2 —18x + 81

100 250 x> —20x+100 | X-10

(x-lﬂ](x-lo)
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Set  Topic: Inverse functions i
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8. Given: f(x) ={(-13,5)(-9,-9)(-5,-2)(—1,-5)(0,—4)(4, 6)(9, 10)(14,32)}
Find f7(x) = {((H ~ACEA-DEL-DEH,-HEH, 0)(b 4 )(10.9)(32 (4}
- wweree funchiom
9. The function f(x)is shown on the graph. Graph f~1(x) on the same set of axes.
10. Isthe graph of f~1(x) also a function? N
1 Justify your answer. M N f\_ 'lj(‘} 1
\ AR
N / ¥{))
. / fl(x ] N
N / _..-f"’"
N
G
\
N

8.50 x11.00 in 1

Jan 11-8:10 AM



4.6 Bernies Bikes - B1.notebook January 11, 2017

4.6 Bernie’s Bikes
A Solidify Understanding Task

Bernie owns Bernie’s Bike Shop and is advertising his company by i o i
taking his logo and placing it around town on different sized signs. After creating a few signs, he
noticed a relationship between the amount of ink he needs for his loge and the size of the sign.

1. The table below represents some of the signs Bernie has created and the relationship
between the amount of ink needed versus the size of the sign. Complete the information
below to help Bernie see this relationship (don't forget to label your graph).

X Y .
Length of sign Ink needed Function: Waih CDﬂnéin: (D | \6] Rang‘e.r
(in feet) (in ounces) 0 .'125]
3 9 Graph: .
4 16 W2t
2 4
15 225
x xz

2. Using question 1, complete the information below for the inverse of this function (don’t

" forget to lab(.eﬂl your graph].F | é%“ox Lcd()oo‘— I,)( | Lé'
‘ unctio Y (st omain: ange:
‘!\qk 0/\%11; 0 (o ,’L’?S] 0,1 5]

Graph:
\o 1 \';;'-- ¥
Y 2
XoyX | Xor

3. Explain in words what the inverse %nctian re;ﬂ‘ﬁs&ts. ’L’LS\V\(.

Thinkig @bout @ Situation 1n an O'Fposik way,

Functions & their \noves .. .
- have (Amphs thad refleck acvoss the

3-:,)( (,(V\Q-

- l’\a\;qﬁ\otowm\\ﬂ Y rangg that
Quitch Plaug.
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Part Il

Determine the inverse for each function, then sketch the graphs and state the domain and range for

both the original function and it'sinver'se. N F

Jxsl \P\XC ¥ FOA
4 fl) =2 -1 e —.hr;::' s
omam%oo OO) Domain: C [ m)

Range: [-) on) Range: (0 ,00)

_——

0 0~'(x)

<
O T K
9T = % " 369

5. g(x) = 3x+2; i) = X—2 :),y( ‘ /
2 ﬂ,\(;c)
Dmm& (o) Drmm(:-oo,oo\ 1
Range: -00 OD) Range: 7
-00,00

9(X) 3x1—% (-o0,00)
3(»0—2 £ v

3
Xd-2 =

3 O N

6. f(x)= (x+3)% f_l(x)=-?r|;_\[-)f
Domain: (‘w ,w> Domain: Lo |(ﬁ) 4 - P'F- ‘()()
Range:[o ,GO) Range: (_00 /OO) - 2

X) ‘\ ><+3)7‘ :
+m 7;5

-3+ 1 & =50

7. f(x)= x7; fix) =
Domain: Domain:
Range: Range:
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Homework

Finish 4.6 "Ready, Set, Go"

Mar 28-9:36 AM
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